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******************* Start of first change  **************************
[bookmark: _Toc3886452]F.2.1.2	Example UID
This clause calculates an example UID demonstrating the hash defined in clause F.2.1.1.
In this example:
-	The identifier, P1, is sip:user@example.org.
-	The KMS identifier, P2, is kms.example.org.
-	The key period is 4 weeks, hence P3 is 2592000.
-	The offset, P4, is 0.
-	the calculation time is: <2014:01:26T10:07:14Z>, hence TIME is 3599719634.
Based on these details:
P5 = Floor ( (3599719634 – 0) / 2592000 ) = 1388.
Consequently, S is constructed from the concatenation of:
FC = 0x00
P0 = MIKEY-SAKKE-UID
L0 = 15
P1 = sip:user@example.org
L1 = 20
P2 = kms.example.org
L2 = 15
P3 = 2592000
L3 = 3
P4 = 0
L4 = 1
P5 = 1388
L5 = 2
Using the conversion in Clause B.2 of TS 33.220 [17]:
S   = 	0x00 ||
0x4d 0x49 0x4b 0x45 0x59 0x2d 0x53 0x41 0x4b 0x4b 0x45 0x2d 0x55 0x49 0x44 || 0x00 0x0f ||
0x73 0x69 0x70 0x3a 0x75 0x73 0x65 0x72 0x40 0x65 0x78 0x61 0x6d 0x70 0x6c 0x65 0x2e 0x6f 0x72 0x67 || 0x00 0x14 ||
0x6b 0x6d 0x73 0x2e 0x65 0x78 0x61 0x6d 0x70 0x6c 0x65 0x2e 0x6f 0x72 0x67 || 0x00 0x0f ||
0x27 0x8d 0x00 || 0x00 0x03 ||
0x00 || 0x00 0x01 ||
0x05 0x6c || 0x00 0x02
Consequently:
UID 	=	SHA-256( 004d494b45592d53414b4b452d554944000f7369703a75736572406578616d706c652e6f726700146b6d732e6578616d706c652e6f7267000f278d000003000001056c0002 )
= 3
a81fb14c3b1d0fe43c9c577104d55a6d81788bfd2f09743c4557746a5a0353b
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******************* End of first change  **************************

